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QID : 301 - Read the following statements and identify the correct one:

[1] “Principal modes of adaptation are assimilation and accommodation by which an individual
adapts to his world.” Piaget.

[11] "The modes of adaptation were variation and natural selection, by which a species adapts to
its environment”. Charles Darwin.

A96Q 2]l RAURY 9L 6 6296 0] AI8:

[I] “Ug9eaa g Q9 6208 YA 6 QUKIFR, AILAFTIAI 66 IR 6l Feq 9R2IQ AR QQRIN-
deies!

[I1] “2g9Rea QUINgEs 6298 60 8 gI9oe 99R, JIZIFIAI IR 916 78 JG6adq AZYRR FR2IN"- SIN
QI9E] |

Options:

1) [1] correct and [l1] wrong
[1] 0% 6 [II] @@

2) [1] wrong and [l1] correct
[ @R 6 [I1] O)

3) Both [I] and [II] correct
Q@ [1] 6 [Il] 0K

4) Both [I] and [ll] wrong
Qe [1] 6 [II] am

Correct Answer: 3) Both [I] and [ll] correct
Q@ [1] 6 [Il] 0K

Candidate Answer: 3) Both [I] and [II] correct
Q@ [1] 6 [Il] 0K

QID : 302 - An infant sucks on whatever object touches his mouth, assuming that object as her
mother’s nipple, is an example of which concept of Piaget’s theory of intelligence?

4@ dga aIF 6 QAITIRE 6T A6 62IRAN SIelq AIZIQ 37 QIR §9FiaIN, el Jelees 671l 43R 629
dRIeq 2 ?
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1) Spatial

e QY

2) Assimilation
FRYRQ4

3) Schema
A°Fg Sad
4) Equilibrium
QUQAAILH

Correct Answer: 2) Assimilation
el

Candidate Answer: 1) Spatial
e A1k

QID : 303 - Which of the following is the correct order of Piaget’s four stages of a child’s
development?

FARNYR ARIQ Q4 Fig RIS AR1Y T2UERE SI6QIT 2aq A0K |71 ?
Options:

1) Pre-Operational Stage, Concrete-Operational Stage, Sensorimotor Stage, Formal-Operational
Stage
J-206099IR 908, AFF-UUCAARIR 9AF, 6A6QIAENTR FQE, TAIR AUCAARIR QS
2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational Stage, Formal-Operational
Stage

626QIR16FISR 9Q¢], T-2URARIN GRS, AFF-AUCAIRIR G4, IR AACAAFIN OAE)
3) Sensorimotor Stage, Formal-Operational Stage, Pre-Operational Stage, Concrete-Operational
Stage
6Q6QIRNEFITR 9Qd!, TFAIR AUCAARIR 9Ad!, T-2UCRAAIR 94, FFI-ATCAAAIN FQE]
4) Pre-Operational Stage, Sensorimotor Stage, Formal-Operational Stage, Concrete-Operational
Stage
J-296Q2QIM 994, 6I6QIAIEFTR 9], AFIR AACAAIR 9, FFF-AUACAAAR SQ!

Correct Answer: 2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational Stage,
Formal-Operational Stage
626QIQ16FISR 9Q¢], T-2UCRARIR RS, AFF-AUCAIRIR A4, IR AACAAFIN OQE|

Candidate Answer: 2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational
Stage, Formal-Operational Stage
6Q6QINNEAITR 9QEl, J-2U6QAFIN 9, FFF-AAEAARIN 004, TR AACAARIR QS

QID : 304 - The term ‘deferred imitation’ which relates to a child’s ability to imitate absent object
and activity in pre-operational period, is given by:

QRI6 A9Rad' 98, A9l J-AT6RANIN ANNER QARG @ 8 AIARIAR JYQ 2908 KGR AVAS!
AHEG, Glgl @4 9EaIee *Gg6R ?
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1) Sigmund Freud

dogg Fae

2) Jean Piaget

aq daes

3) Heinz Hartmann

628 2GR

4) Jean-Jacques Rousseau
S-S @6l

Correct Answer: 2) Jean Piaget
@Q dales

Candidate Answer: 2) Jean Piaget
@q dales

QID : 305 - Genetic epistemology is:

2GR LULR QS 26T ?
Options:

1) A study of origin of knowledge

R AR LR UL

2) A discipline established by Sigmund Freud
dogig Jrew 19l Q196 99 gd4

3) A study of heredity

QGG AJDR

4) A study of human genes and hormones.
AIeQ G] 6 26FIFQ UL

Correct Answer: 1) A study of origin of knowledge
RIQ QAR 62U 2AYAG

Candidate Answer: 3) A study of heredity
QRN AU

QID : 306 - A teacher, in a question paper, provides clue words in order to complete an
incomplete story. This approach to teaching-learning is called:

264 FAQ 9 ggagea 2°Agd 2al N 99 AR AR ALCRTR IR 6a6n | NE 98 98T @ 1@ QEeRIsq
@l QaIaNg ?
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1) Situated Learning
AeEee dal

2) Scaffolding

QIR

3) Metacognition
RS

4) Defence Mechanism

T QAL

Correct Answer: 2) Scaffolding
QIS IRET

Candidate Answer: 3) Metacognition
KIS

QID : 307 - Which of the following is not an area of learning?
FORGE AUQ @8 VA IS 699 96T ?
Options:

1) Knowledge
KRIe

2) Concepts
3o}

3) Memory
96

4) Skills

Q@R

Correct Answer: 3) Memory

95

Candidate Answer: 3) Memory
96

QID : 308 - "Spelling bee” is a formalised game of memory. Which form of learning does it
involve?

"camat &' 6208 g6q e GA0RR 65@ | 126R 699 9RIRR JRI 224 Q@8 ?
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1) Rote-learning
6ATRQA F6Q QYS!

2) Deferred imitation
ARG I8I(RF6eIR)
3) Operative learning
Q26N &

4) Figurative learning
YIRAR S

Correct Answer: 1) Rote-learning
6AITRQA 6@ QYA

Candidate Answer: 3) Operative learning
QA26QQ1 S

QID : 309 - Knowledge of which factor helps a teacher to know the growth and development of
her students better?

RIGQ 696 AR F6¢ VG e FFFIGFA 98 8 IR AM6R FITQI IR ATINR 629 ?
Options:

1) Heredity

AIgGe

2) 1Q level

1Q ga

3) Physical Appearance
A GLE

4) Progress Card

oG aQ

Correct Answer: 4) Progress Card
901G 98

Candidate Answer: 4) Progress Card
gee 9g

QID : 310 - Read the following statements and identify the correct one:

[1] Identical twins are monozygotic and have same sex.

[I1] Fraternal twins can be same or opposite sex and their genes are as different as any other
brother and sister.

306Q 991 QNG Teg 6 696 O] I8S:

[I] 9RI8E cadIQIRgQl AIZIRI Neg9s A98 268 6 AFIF Ad G4 62IRAIT |

[Il] §24e YA AR QI IAG MeF I 6RIRUIAE G 6ATRTA TR AR AR 8 RdIT AQ ARG
6212 |
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1) [1] correct and [l1] wrong
[1] 0K 6 [II] gR

2) [1] wrong and [lI] correct
[1] 99 6 [I1] OR

3) Both [I] and [II] correct
Q@ [1] 6 [Il] 0K

4) Both [I] and [ll] wrong
Qe [1] 6 [11] @m

Correct Answer: 3) Both [I] and [l] correct
Q@ [1] 6 [Il] 0K

Candidate Answer: 2) [l] wrong and [ll] correct
[ @R 6 [I1] O)

QID : 311 - Which of the following is not a characteristic of Charles Cooley’s Looking Glass Self

Theory?
FIRYS FRIQ 6268 Gl FERT AT IRIBQ IR 6FEF Q6% ?
Options:

1) It portrays that human mind is social

¥l AI9e (399 AN 6N Q@41

2) It assigns an active role to an individual who perceives what others think of him/her
2l 62% Q439 U@ AFA @Rl Q18 @RI T QAR O FTACR K8l ASE GI2l QTN

3) It advocates interactionist perspective

92l 91909 gRIQ QE6RIEg ANUR @Rl

4) It believes that parents play an important role in child’s personality development
42l dga QUaQ ARIF6Q IQ 8 IRl gJ2¢ @tiaiNd

Correct Answer: 4) It believes that parents play an important role in child’s personality
development

42l dga QUaQ ARITEQ IR & QIR 928 @tied

Candidate Answer: 3) It advocates interactionist perspective
\@l 919209 gaIe 986a1aq AAde KGN

QID : 312 - Which of the following is not a learning domain of Bloom’s Taxonomy?

FANYS FUQ 69RT QA FFRIR e VAR A0AR g6L ?
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1) Psychomotor domain
F6RISRE QAR

2) Affective domain

RIS AQAR

3) Cognitive domain
6Q18@ 9aQQ

4) Pre-operational domain
JIR-ARII aGaa

Correct Answer: 4) Pre-operational domain
IR-TrRIduaN afa

Candidate Answer: 4) Pre-operational domain
gIR-reIduac adaa

QID : 313 - A teacher spotted a child with SEN (Special Education Need) in her class not singing
along with other children. She asked the student to stand along with her and sing, while she
motivated her. This is an example of what form of education system?

64 SR F68T G QARG QI IR Jgq UM TRIAINE AL FIRRYIQ 69¢6m | 6Q 62 Mg 7% AL
02 621R 916 FIRQIg K461 A2 6gI2IEG F6m | 2! 69Q 9RIRQ J8I RIAFIR IR ALILAE A6E' ?

Options:

1) Integrated Education
AAZG dal

2) Inclusion Education
2IeF6ead Sl

3) Mainstream Education
I Sl

4) Conventional Education
JIe¢aR aal

Correct Answer: 2) Inclusion Education
a8h6a4 S

Candidate Answer: 2) Inclusion Education
eIRReqd gl

QID : 314 - Who is not a ‘diverse learner’ in an inclusive classroom?

@ 235641 65419261 @ IR ‘FadGIgd JRIgr G6R ?
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1) Person with disabilities

ARSI 2l QYD

2) Person with different languages and cultures

0% VUV 6 YR a1 4

3) Person with different kind of food items in the lunchbox
A QIFEQ SRR IR S & Q4B

4) Person with different interests and ways of learning
G092 gl 6 J9IQ SRR QAL el Q4B

Correct Answer: 3) Person with different kind of food items in the lunchbox
A QIFEQ SRR IRIQAQ S & QUF

Candidate Answer: 1) Person with disabilities
ARG 2l QYD

QID : 315 - Which of the following is not a committee/policy created around inclusive education in
India?

7919 6295 AIR06R ABFERF1 Tl IR I8 1@ TG/ 96< ?
Options:

1) Integrated Education for Disabled Children (IEDC)
R96966Q IgERl] IQ $6aAgne Fsn.@ (IEDC)

2) Kothari Commission

621018 @FaQ

3) Sakshar Bharat

YA QU

4) Mandal Commission

A8e 27AQ

Correct Answer: 3) Sakshar Bharat
QYA UL

Candidate Answer: 3) Sakshar Bharat
YA QU

QID : 316 - How could a teacher hold the attention of a slow learner?

F9 99 2161 FIQ AL 69 AAILER RSN AHSIER AFE 6269 ?
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1) By using the technique of motivational dynamism

UREYQS FANIRG! QIR QIAYIQ KRR FIRU

2) By making him sit in the front row so that he can easily copy from the board.
QI 29 UIFER YARR 6IUR 62 ALFEQ FRITSIQ RS AR

3) By making him sit with an intelligent student

Q19 ¥R QEIR IRl AISER QAR FIQ

4) By providing hand-written notes

29 YO 6Q1Q 6QFNRR IR

Correct Answer: 1) By using the technique of motivational dynamism
ZREYAS FAUSIRG! 6RIR URLIQ KRR GIal

Candidate Answer: 1) By using the technique of motivational dynamism
UREYQS FUNIRG! 6RIIR QAT KA FIRU

QID : 317 - What strategy should a teacher follow to promote Gender sensitisation in classroom?

69419260 AFFE A60ERRI 691AIEG @RRI AIR FAR 699 AAIC TR ARER ?
Options:

1) To select students for class activities that defies their gender.

ARIeE Aot 8AIQ6Q 65419260 ALY GAE FRR

2) A teacher can encourage educational activities for children to inculcate moral values and
respect for each other irrespective of caste, gender and religion

QIS, MG B Ul FE6IT6R UALA AIR 676 RIS B ARIR FHASI AR F9E QDY AR FA@ 691ATS
QQ6Q

3) By allowing girls to come in school pants rather than skirts

BAURIGG 2C 9R6a Q44 IR 21dalg QNG 69

4) Organising a play where boys play female character and girls play male characters.

R FIRR LIRS FAQ 69R26R JAMIER AZR RARI @R6S 6 BaCIEr eS8 gfial @6

Correct Answer: 2) A teacher can encourage educational activities for children to inculcate
moral values and respect for each other irrespective of caste, gender and religion

915, G 6 U HTCHTER AALQ TN 6769 IRNIENY 6 AFIR FHIRS! AIR FVS QY AR TR 691N
@Q6e

Candidate Answer: 2) A teacher can encourage educational activities for children to inculcate
moral values and respect for each other irrespective of caste, gender and religion

915, AE 8 U HA6ET6R 902Q IR 6569 MIEIN 6 ARIR FHIRS! AIR FIE QY AR F9R 691ARQ
Qa6

QID : 318 - Which of the following statements is not correct of Autism?

255¢] AQN6Q FIRYS FIQ @8 OF g6< ?
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Options:

1) Autistic child has over-exaggerated concern with oneself and little for the environment or for
others.

2ER J9Q FATC 2GAEe A 2N 8 ARERE IR A AT AR D¢ 2N

2) People with Autism are intellectually disabled

2GGE 991 AgLI6R IR} 962

3) Itis a developmental disorder characterised by severe deficits in social interaction and
communication.

2l IR GRIEREE G0 269, 6d626Q AINIRR G57IL G 6AISISAITER INQ 2N QR2IN

4) It is first described by Swiss psychiatrist, Paul Bleuler

\2IQ geIea §Q AERIRRIGT AR QAR QIR

Correct Answer: 2) People with Autism are intellectually disabled
AGHE A1 FGLIER YR} F6L

Candidate Answer: 2) People with Autism are intellectually disabled
AR 22l FGLIER IRIIQ 6L

QID : 319 - ‘| started education programmes for disadvantaged children in Rome. | introduced the
concept of ‘prepared environment’ for classroom teaching. | advocate teacher as an observer
(who learns a lot from child) in the classroom teaching.” Who am 1?

‘¢ 6QU6] 6@ ZGgAR ARIFIGE AR F9I FFIGA 2a2 KGR | ¢ 6948192 TG AR ‘9egge AR’

ARG 69R2R | 694192 FVINF6R TP K68 6QSILIR (A9@ ARIOIR 2Aeaa @F JgelN) 691 ¢
QAW | @ ?

Options:

1) Friedrich Froebel
6FRAR 6TIEAR

2) Maria Montessori
QIR 71682Q

3) Heinrich Pestalozzi
6200R 6JIENIT

4) Rousseau

Q6ql

Correct Answer: 2) Maria Montessori
AR 7164AQ

Candidate Answer: 2) Maria Montessori
IR F168QR

QID : 320 - Effective learning is feasible only:

6Q6Q gIaT SR Aae g4 ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

10/68



10/6/2019

Odisha Teacher Eligibility Test
Options:

1) When teaching is based soundly on the best available understanding of the processes of
effective learning and the teacher establishes a purposeful and safe learning environment
conducive to learning.

6d606Q6R d9 gRIQT FIFIQ QUMS gl A0IQ N K QUER AY6ede &N 6 FIR J AR 4@
Q6a84gd 8 gadic 994 9B6ed 98 @B |

2) When teaching-learning is done only using ICT tools of teaching.

606066 996! ICT QURQE T 62IRIN |

3) When teacher provides all written notes in the class.

6J606Q6R TR 65419260 AL RYE 671 6QR2AIAT |

4) When teacher speaks in fluent English.

6J606Q6R J9Q JIgm QAR g8 |

Correct Answer: 1) When teaching is based soundly on the best available understanding of the
processes of effective learning and the teacher establishes a purposeful and safe learning
environment conducive to learning.

69606967 8l 9RIa1 SAIQ RARE &]l A90IQ AR KIS AU6Q ATI6LAS 2N 6 F9R J9l AR 9!
@6@@4@@ 8 9ode 996 9064 Q& Q0B |

Candidate Answer: 2) When teaching-learning is done only using ICT tools of teaching.
69606960 9961 ICT URAE FIQl 62IRIN |

QID : 321 - Who introduced the term ‘behaviourism’ in the realm of psychological theory of
learning?

IR F6QIFRIGR AVS ARAAEA @4 'ALAQ'Q QR KA ?
Options:

1) John B. Watson
@Q Q. €leaq

2) Heinrich Pestalozzi
627AR 6QYIERIG

3) Howard Gardner’s
621616 QIERAQ

4) Jean Piaget

@Q dales

Correct Answer: 1) John B. Watson
eQ Q. €leQq

Candidate Answer: 2) Heinrich Pestalozzi
6200 606N

QID : 322 - Rewarding only the ‘best’ student in the class is not considered to be a satisfactory
approach. Which of the following reasons do not support the above statement?

66411926@ 6297 'AQ0IQ AR’ BI8F JAYS FARI IR A6LIFAR AT Q6% | A7 694 QRS ATEAIB
@2q gISe K6RRI12 ?
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1) It can engender feelings of unfairness or competition among the less able and lower attaining
children,

QI 98 Y1 G9Q 6 @7 9Ig @Al TRIAIRE F1:I6Q AFKIGE! @ JG6LIFNPIR @2 I8 QIR

2) Rewarding such children will make them more intelligent and smart.

JQ dRIg Jee @Rl FIAl IAIER 2@ QIR 6 @F 6269 |

3) Rewards do not always lead to higher quality work.

JelIQ AGG! ARG AUl AAN QI |

4) Rewarding children who are already well motivated may lead to a loss of interest in the subject
ITQ ANRULER ARWEYRE IR TG JOYE F6M 6AAIFFA T8 JG 2ge @FLN |

Correct Answer: 2) Rewarding such children will make them more intelligent and smart.
A IRIg 9o KAQI FIAl IAIER 2R VAR 8 @Y 6269 |

Candidate Answer: 4) Rewarding children who are already well motivated may lead to a loss
of interest in the subject
IPQ ARV AREYRE RS TRIAIFG JOYE KM 6AAIFTR GV J6 age @AaNd |

QID : 323 - Which of the following is not correct of Integrated Learning System (ILS) ?
IR190 991 Q4a4l (ILS) AAR6Q GO 6966 A4 g6w ?
Options:

1) It is computer based system for teaching

2 REIEQ 946G SR8 26T

2) It includes a number of management tools for assessment and record keeping
EeQ milae G 609% QYS! IR A6} JAIAQ TALIRG! AARA! 21

3) It operates like Skinner’s behaviourist ‘programmed learning’ theory

2l I0Q & IFASIQIQ '6giglic] SRl RIS 9Q ARG §9

4) It is a game app for SNE (Special Need for Education) children

92! SNE (881 QI §3a 2I964as!) FRAIRE IR 99 681R 2l

Correct Answer: 4) Itis a game app for SNE (Special Need for Education) children
gl SNE (381 a1 398 2I964a0l) RAIRE IR 99 661R g

Candidate Answer: 3) It operates like Skinner’s behaviourist ‘programmed learning’ theory
2l I0Q & IFASIQIQ '6giglie] SNl RIS 9 YALIRS §9

QID : 324 - A student does not finish his homework on time, talks through out the entire
classroom teaching and hits other children. What kind of behaviour is expected from a teacher in
such situation, which leaves a stronger and longer effect on the student?

@64 ARl QI8 AAAI0 ATNER 69T FEAAIET, 654115260 TR AFAER 2TA 964 6 2FY ARIF FI6Q |
YOG 69960 9681 ITR FAG QLR FGFI AFQ 699A GIel TR AV 4B B LA RS ARG ?
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1) Positive Reinforcement
AR QL1NQE

2) Negative Reinforcement
AR QR

3) Corporal punishment
S10Q1e @8

4) Avoidance

aceR

Correct Answer: 1) Positive Reinforcement
AR QLIRS

Candidate Answer: 1) Positive Reinforcement
AR QLIRAE

QID : 325 - An English and a Social Studies teacher gave a common project on the topic, History
of Indian Partition, as depicted in novel Train to Pakistan and in history textbook as a part of
internal assessment. This new approach for assessment in classroom promotes:

964 °QIF1 B AAIFR IR TP ALFIR JAIAE AIR 697 § IAE J@ 8 AGAY AIOIYLRQ VRS
QAFRA PP AACQ @ ARIQE Y@T FRQIQ @TEM | 69€11926Q RUIARQ YT G2l QD Q6 6gIAITEG
[6Q ?

Options:

1) Integrated Education
Q190 a3l

2) Traditional Education
QAR dal

3) Inclusive Education
28564 aal

4) Formal Education
GaoIae Sl

Correct Answer: 1) Integrated Education
Q19e SISl

Candidate Answer: 1) Integrated Education
Q190 S4l

QID : 326 - What among the following is not expected from a teacher?

FIRYG FRIQ 696G F68 TR 01 Gl RAIAN QIF ?
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1) Master her subject

0 S36Q ARG

2) Encourage students to become life-long learners
IRIRT F1R6UIT dRIged KG9l AR 6g12ITE FAR!
3) Give good marks to her students

7% 219A19T O AR 623

4) Develop new teaching practices and techniques
Q2 G948 2RI G 6RlER FRIE *QQ!

Correct Answer: 3) Give good marks to her students
A% 81871I9T O AP 644

Candidate Answer: 3) Give good marks to her students
7% 8187I9T O IR 644

QID : 327 - Which one of the following is not correct of CCE (Continuous and Comprehensive
Evaluation)?

CCE (592Q 6 QuIae J4I) 6996Q 444 6896 O] g6< ?
Options:

1) It makes teaching -learning more child centric

42l SRIg 2 RIS 62519 [6Q

2) CCE was introduced to get away with exam-centric approach of evaluation
NIw? Q1A 6RL1R gy R 69 QIR CCE d49e @ldiaeml

3) It focuses on a holistic development of child’s personality

¥l J9Q Q1R gd ARI19 QA6Q T @9

4) It makes students life stress and exam free.

2 INQ §195¢ SIS 8 IV R

Correct Answer: 4) It makes students life stress and exam free.
2l IRIQ §19FQ TIB 8 UAIFICB KEQ

Candidate Answer: 4) It makes students life stress and exam free.
2l JRIQ F197Q TIB 8 IS K6

QID : 328 - As per Right to Education Act, 2005, what is the total number of working hours per
week, including the preparation hours, for a teacher at primary level of school education?

JQ1 2YRIQ 2IRY, 2005 FAIRER, glaIFie F9l TN 6 ARG FaIQ AR FITIAL 6068 AN

Q@ ?
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1) 25 hours/week
25 Q4a/Qqle
2) 35 hours/week
35 Qa/Qgie
3) 45 hours/week
45 Q4l/Qgle
4) 55 hours/week
55 Qa/Qgie

Correct Answer: 3) 45 hours/week
45 Qau/Qgle

Candidate Answer: 3) 45 hours/week
45 Q4l/Qgle

QID : 329 - Which among the following is not correct of National Council of Educational Research
and Training (NCERT) in India?

FI91% J81 9694 6 9888 aaEe (NCERT) A#@6a S9Rge FiQ @6 0) 968 ?
Options:

1) It is the apex body for curriculum- related matters for school education in India.

42| AR FNIRA Q1L FVI6Q AIIFE AAGE G99 AR AITIQS A°Ql 266 |

2) Provides academic support and technical assistance in improving the quality of education in
India

AR V1A AR & @GSl QIR 42! 688Q ATCAIT B 6TVAS AL6IG F6Q |

3) It is the academic adviser to the Finance Ministry of the Government of India.

2! QIAG QRIS 28 AR 63JR ATIAR 26T |

4) It conducts and promotes educational research

2l S AAR1Q CI6QTEI RAURAN B 6gIATE FAUIRIN |

Correct Answer: 3) It is the academic adviser to the Finance Ministry of the Government of
India.
2! QIAG QRIS 28 FFIRAa 63JR ATIAR 26T |

Candidate Answer: 3) Itis the academic adviser to the Finance Ministry of the Government of
India.
92l ARG AARIAE 22 AFIIRAR 698@ ATNR 26E' |

QID : 330 - Read the following statements and mark the correct answer:
[1] Assessment: Collecting information on the learners’ learning using a variety of procedures.
[11] Evaluation: Making judgements on the basis of information collected.

a96Q 99l 98N 9eg 6 O] 20 Q4Ig:
[I] GRuI9G: S0R 9EIN QIeLIQ @) JRIEIR JRI AHRER JoR! A°gL Ka4! |
[] gRUIFS: °YL16 YOI RUER RIS gRId @34 |
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Options:

1) [I] correct, [II] wrong
[11 0, [II] g

2) [I] wrong, [l1] correct
[ g%, [ 5]

3) Both [I] and [II] correct
Q@ [1] 6 [Il] 0K

4) Both [I] and [ll] wrong
Qe [1] 6 [11] @m

Correct Answer: 3) Both [I] and [ll] correct
Q@ [1] 6 [Il] 0K

Candidate Answer: 3) Both [I] and [II] correct
Q@ [1] 6 [Il] 0K

QID : 331 - QINITR QIER FYe QUG QRILN |
Options:

1
2
3
4

geir usl
QIS 2T QI AR

Qo1 Qual

QUEQUB FRIQ 6RETT gow

—_— — ~— ~—

Correct Answer: 1) 929 Qg

Candidate Answer: 1) ga¢ Qg

QID : 332 - AIgaISl A0R @I6e QBQl FI9l RILIQIE 9G9Iq 2aIA Q& 621NN |

Options:

—

) €Il

2) QI 2JG 24

3) RIQ 2RI

4) 9o%l 2Jge8

Correct Answer: 3) R 2924

Candidate Answer: 2) @ISl 2924

QID : 333 - 364 JQg FUG OM AR QI FEQ 6P AR P AT ?
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Options:

1) IQ1Q N6 AQRAE @Q &Y ANIA @R
2) QR SRNIAR1Q KIS QY

3) R2I9ZA AARIRAS !}

4) Qg QI F168 QY

Correct Answer: 1) GR1Q QUES AFRAS @Q &F)l ARIA KA

Candidate Answer: 1) 9Q1Q @I6Q UQRAE !@Q @Yl ANIQA !

QID : 334 - QIS NQ° A°YE FIIEQ REAITRAR NL° ATRQ QG QR IR AP ARIAR
Jaichg AeIdy @AKIER, A2l @ QUTISE RINEQ VG AR @AQ!, ORI JIF *AS! Ie° AT QAT
FAGIEQ QIR AIFIQ ARIIQ AUSS' | FaF JEIQ A0R IR IR AUFEA VG |

Correct Answer: 4) 298 @Q<l

Candidate Answer: 3) g&al

QID : 335 - 564 §9Q FQIGIRQ FINREa QU6 99<l 969186 Q12 |
Options:

1) garal

2) RS
3) QISR
4) Q188

Correct Answer: 2) ¢9I91QQ8]

Candidate Answer: 2) (341QQ¢

QID : 336 - SgQl A6 J64a Nl 626015 6P 6@ AGFE @RI ?
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Correct Answer: 2) 4

Candidate Answer: 2) 4

QID : 337 - gIFIQ @@ JRIRRI /EQ?
Options:

1) @@¢1 Q6d <l /e Ade

2) Q2 @EQI JNIA ATS

3) 6RgSl AR &8 AARLEAL 623!

4) §Q1Eivieg Fa0geq ddeal

Correct Answer: 2) @2l Q@9 2y ATS

Candidate Answer: 4) dQI1EiRIeg Fa0Geq QS

QID : 338 - 6315 90Q 22 AR FIGAIg §97?

1) @699% 296 a1 A%
2) 996919
3) Q9@ @
)
Correct Answer: 3) Q9@ 9%

Candidate Answer: 2) da6QI9

QID : 339 - Q98I §gQIQ QAIAYSS &'81?
Options:

1) QG0 QAILER

2) QIARIRIR 9Fa

3) a2q gaal

4) ¥gGQ 616G gee

Correct Answer: 3) 92 9@l

Candidate Answer: 2) QIGRIR19 gGal

QID : 340 - 65lIGN 5th 654611Q YIS 6QARTRIANG QAI2IYY6Q 9F FQAUARAIAS|
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Options:

1) QI 8 QAR AIRIAYERQ

2) ARIEQ G

3) 6] AIRIYYER

4) Q% GIY 8 6] AILIYIER

Correct Answer: 2) J7I§Q A&°

Candidate Answer: 2) J718Q A&

QID : 341 - QISI IR FIED 2NRe AT QG0 ?

Options:

1
2

) SFRAIER am G9@ 6ARIAIR 9 A°GL KA 2ARFIR

)
3)

)

8
JYRANER RGN Re L6RI2TC KRS QNS
JRRAN6R RIQAIRw g@ QIIRQ! QSR
4) QUEQIB F1IQ ANY

Correct Answer: 1) 3907169 Q@ G998 62910 JAIS A°GL ARG QNS

Candidate Answer: 4) QJ6QI8 71UQ AAG

QID : 342 - AORYG ARIQ 62REF LT 2GIT AR KA IR NRTIQ FAEIR?
Options:

1)

2) 69QYe%
3) 62996
4) QU6QIB FRIQ ANY

210-J2IRIe-E9% 6509

Correct Answer: 4) QUEQI8 F1UQ AAQ

Candidate Answer: 4) QJEQIa F1UQ AAQ

QID : 343 - G6¢)I9 GREYER UG 6066 OR? AEAIAR 2IRFE FRIER A28

Options:

1
2

) ALY GRIR FF68 UGB ORI AN KRS

)
3)

)

Q
Jaldie AR GE0 28RA 6297l 6986Q 6 AT AA6AId KPRl 2R @ FIEQ AR oI AAM
Q3 dIel 9IAFR 6R19R AR AREI'E 6969 TR AR FITIFRIAQ 4G4
4) QUEAIB FRIQ AN
Correct Answer: 4) QUEQI8 A1UQ AAQ
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Candidate Answer: 4) QUEQI® A1UQ AAG

QID : 344 - 56919 GREYEFR FRIQ 676G 0R? 629 AAIFT IRgee dNIANT JIR 8RR QI 526 @RSl

18° 698 29I SARAIER AACAIG 2RI 2GRS FAR6Q AIFIAY AR IR
QAN

Options:
1) QERIAR 2R
2) 6dIFINR RR
)
)

3) IR-AUKRe
4) 596 AAQYI QIR AR

Correct Answer: 1) QRRINR AR

Candidate Answer: 4) §9¢ QAQYI QIR QAR

QID : 345 - §AITIAINF0IER UG 68719 ARG AR FAXAER @' AR AFG?
Options:

1) 691IGN QYIEQAR @qn QIQq 919 9eg

2) On Q6L GBI AR 622 Q‘&&lﬁi 650 949 C2Q @ag

3) dQidiinieg Geq G6w ARl AR 929

4) 66IG QUIEAR Yl GIYAG 6297 W6Q UGS AR F2F

Correct Answer: 2) 9 9162 9391 I 632 G0 659 J4 IR @ag

Candidate Answer: 3) dIERIeg Gaq F67 0GRl QIR G2

QID : 346 - FIal ga91 2QUIA AT6Q SAIT YRS AFEN|

Options:

1) 2IQ84R AFACQ FIRI 6187
2) g8QI FAAQ 9@ AAIFY QI
)
)

3) 9] 69196Q @2l @Eal
4) FQPFA [2lq IR AIFER YT

Correct Answer: 3) ¢<Q 6516 @2l @ES

Candidate Answer: 3) gQ 601969 @2l @EQl

Aane LI

QID : 347 - AlIFER SRR ANNER TVEAIRFA 6Q91Q 6991 6KIFQIR AAQ 623
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Options:
1) 6RQEQ 6712Q
2) 6699-9% 6612Q

)
) — —
3) ABB-QQAUIR IR
4) 2I6RIPR KA AAIAER

Correct Answer: 4) 2I6R19%1 @QQI QAILER

Candidate Answer: 3) 2G6-Qg2IR 4Q

QID : 348 - W8 2 62 6TANET A8 6RIG 2° ACHIARE FIARECTAZR &l 6QsTEaIRN Toer?
Options:

1)

2) 0661 6F1R6LI6TIE
3) géig61s
4) 9RRIQ

Qld

Correct Answer: 3) 896714

Candidate Answer: 2) o661 6AIRELIETIE

QID: 349- 310190 @QIR dIeIg @ 9eIedie! 6giaal|
Options:

1) INA6Q

2) AI5Q4Q6Q

3) @R6EAY B YIRS

4) Q6RIQIUER

Correct Answer: 1) 3Q6Q

Candidate Answer: 3) @Q64d49 8 TYIREA

QID : 350 - “QIRQI" 98 IR @2IQ 69Q 2°d QIRYER LLIR 6RIRS ?

Correct Answer: 3) @l
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Candidate Answer: 3) @@l

QID : 351 - 36918 QIRYQ A0R G68IFE QIR | AR 684116Q AQULES M |

Correct Answer: 3) 2Qdd¢

Candidate Answer: 3) 2993¢

QID : 352 - 6615\ @9 G699 A2 YR QIR IS @9 | ¢ 1061 Q6Q sle'g QI |
Options:

1) 6Q6REQER

)

2) 26

3) AgeaeR
4) ARIIQEIBS

Correct Answer: 4) QARIQEGS

Candidate Answer: 1) 6Q6REQ6R

QID : 353 - A0Q J6aIFA] A2 AR Jodl 9aF | 6711 B8 QIQ ISTE QY 61T 68R16a KIQI *AQ!
¢ G2l AI6R QIF |

Correct Answer: 4) F996Q

Candidate Answer: 1) QJ6Q

QID : 354 - G618 A% Qg @9 | QIS LI
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Options:

1) QIQlg
2) w1ge

3) a9 Quag
4) QARG

Correct Answer: 1) dQlG

Candidate Answer: 4) QI€691QG

QID : 355 - R JQUIHQ JIRQ QTG 99 e° FI6Q Q21 ARl 94 JP9a e Gag :

AITR AVIQA QBR1, RO QO FURER
Q1R RIS ANQ, 69 G2 YRR |
Q4 G0 6Q% QER, AR AQ @A,

IR JEUT QIRER, 160 Q6L AR |
2J6M ACLDR FFI6Q, ACT UQSH ]I,
@ O3 JGR gRIO, 699 6249 2T |
28 gIél Af 9669, 916 a0sm A6e
2RI YT IR, A121 29K Q6Q |
QL6R FIREM A1, 2IQI @ A6RIER
6Q Q1 §a6dl, ga9 FIS QB0 67lLQ |
QR6F AFEQ QURER, G2 QR F16@
29649 YFIA @90T0l QF RIQ6E! |

AR FVRQY @8 ?

1) S1GRIRIR GIATIL
2) 9QIEAIR

)

)
3) 91y
4) g9 Qql
Correct Answer: 4) gqdQ adq!

Candidate Answer: 4) 9qoQ 44!
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QID : 356 - IR JQUIHQ JIFQ ATG AL Ie° FI6Q T2 AR 94 Yo e Gag :

AER 2ANQ AGRT, A0 QO ARER
Q1R RIS ANL, 69 QIR GMER |
Q4 Q9 6QY QER, IR A8 A4,

IR IEURT QIQ6R, M16Q Q62 AR |
2J6M 2ACLDR 5FI6Q, A6R AR ]I,
@ 09 JGR 9RO, 699 6249 2T |
a8 gIél A% 86169, 16 a0sM A6a
2RI YY1 JORI, A12I 2AIRR A6Q |
Fa6E JIREM AFIB, 2Ll @ 6219
6Q Q1 §a6dl, 2o QIS RO 67lLQ |
FaG AFER QAURER, FIIT 2R C16Q
29649 YAIQ 991006l QE RIQ6E! |

Q% dAIAIRG @4 F1I6RURIR 60R8E?
Options:

1) 904 6R606R6R AL §23

2) 39 9909 9RIEC @9B

3) GRIQ1 6REL66R FIGS g9

4) GqQ QI @\

Correct Answer: 2) &4d9aq JeIde @98

Candidate Answer: 3) J¢Q1 6@6G6Q6R QI g4

QID : 357 - RGO 948 JIRQ ATE 9L Ie° 76Q QI JIRSQl 9§ 4o e Gag :

JAIER 2ANQ AGR1, Q0 QO FARER
Q1R RIS AAL, 69 Q2 YRR |
Q4 Q9 6QY QAR IR AF AR,

gIm goas QI96Q, U16Q 962 JeF |
CJ6M AR 5FI6Q, A6T UQSH ]I,
@ 09 JGR 9IS, 699 6249 2T |
29 9ISl A& [€6@, Q15 RO A6Q
2RI Y21 IR, A121 9K Q6Q |
FL6a JIRem AFIS, 2Ll & 6212
6Q Q1 §a6dl, ga9 QIS RO 67lLQ |
QO AGER QRER, T KR F16Q
2069 4910 9916961 Q7 RIQ64 |

QI2l 986 ARIFIER IR AGHS GIR RAE?

Correct Answer: 3) 4991
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Candidate Answer: 3) 91

QID : 358 - FRYG ARVIQ UINER AFF IS 9RQ I AdIe g4Q e Gag |

Ql6QIT QGG PR YI 9a°

QILQ gem, A KIGACA AGYQ

6815 €I A1RIQ ARG I HIRAIG 62716 AN 62RRE |

gIo 691279 6216 adye JqI G

AIF2 Q9 AIgAg ARIg AP adis @Ag 9F §fiew A8 6T ARG FA8E!

N2l @616l geIlél 64 6IsAIEa I 21821 20IQ 267 AIZAF! 6220 2 J2BAER IS 622 §1 FAIRERI
A% AR §IQY QYL FEM NG° JARRI ABIER| 9REQ @F 661G\ QTR IZAF HQI 6TIRIARN, SR
6248I9GR 964l 6017 AL IR AR 6HNAR | B8 FEI §Q RAYEFR YT QA°6aR AIE AF| 2IGY AFRER
6QEAI6R YR TERTER 6990 2T 9LEIRIYER, CAYNR AQ IRIQ AIFER Fag IR F6M IQ° IIT6R
QETINTIEM| Q641 6T FRTEQ FRTTER A1 KA &F AATR QYA RIGY IQ° A& PRTRI A6Q &
QEAITIIER 28 62R5 QIR FIE ARl | FEAFIER QBFIR IR AR ATUER QTS | AYAQ 2R AITAFIANER
60I91Q1g BRIRER Y&° AF0IQ AR FIIE 659 FINT6R | FAAIGFR 6a19Q 218l AR, 6x19d VIS AR, 69
adie 967 3629 ARG @Yl Fge 6a7E FIAITRER ALARIG 6291

QATEQIB T FER 6ATR JOER 699 2 FEIRRIG FIFER?
Options:

1) QEARCNAT QUEQ Q@QQ 2RJAN
2) Qg@? QA6 R°CARCNPERA 2RJAGY
3) 9IE QU6Q NIRRT 2RIASY
4) AQRRAE QUEQ FINTQ 2URIARY

Correct Answer: 2) 29 QJ6Q Q6K 2N

Candidate Answer: 3) QY@@ QJ6Q ALIFAAYFTR 2IRIASH

QID : 359 - FYRYS ARVIQ UINER AGY IS 9AQ G Adie g4a e Gag |

QI6QIS QIQAIYHT 96LR YT 1Q°

QTR g6m, QG RIQACR A<

6815 €I 91RIQ ARG I HIRAIG 62716 AN 62RRE |

gIo 691279 6R15NE adye JqI G

QISR Q6 KIQAQ ARIP QIS A48 @09 98 giew AR 6RAC AT FARE

21 gO1B gAIE 64 6TIYRIER AR 2RI 201 T6R FIRAF! 6990 AId ALEAER UG 62R2AQ g1 FAIG6R
A% 919 Y94 gL AEM IS FRAR REIEN! FRER @F 651N 1T FIFAF! SAl 6K, SR
6291909 K641 6017 ALRF FIAQ AR 6HINAN | B8 FET TQ VFFR Y8 R°6AE 7112 A 2IFY AR
6QEAI6R IR AERTER 6790 AT 9LEIRYER, AN AQ IRIQ AIFER Fag IR F6M IG° IIT6R
QBOINTIEM] 671 6AIHAT FRTEQ QATRER A1 A @G AATR QUIAT KIGY Q° AIS 9RTRI A6Q &
Q6AITIIER 28 690G QIR FIE QIR | FEAFIER YRFIR IR AR ATLER QTS | AYAQ 2R AIFAFIANER
60I91Q1 BRIREL Y&° AF0IQ AR FIIF 65R FINT6R | FAAIGFR 6a19Q 28I AR, 6a19d VTS AIR, 69
adie 967 3629 AIRG @9l Jge 6aFE FIATRER ALARIG 6291

998 FQUPEEQ FIBART RITI OF 760 694Iq FAIQ RGR?
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Options:

1) K64l 611QI6RRw IR} OF
2) G648 LRIERR 6QIR A

3) G641 QIR QO O

4) 3G AAYIQ FIRQR 657 Af

Correct Answer: 1) @66l 60C1QI6RT QR Q&

Candidate Answer: 1) @66l 60C1QICRA FIQQ Q@

QID : 360 - FORYG FEGIQ YRR AFF IG° AR AIPG ALIS IR QR Q2G|

QI6QIS QIQAIYHT S6Q@ YT 1Q°

QQITE g6m, FIQE RIQUCR ALY

6815 €18 F1RIQ AARIQ I HIRAIG 627168 AN 62RRE |

g9 69127 616G adis ARl G

AT Q6 KIQAAQ ARIP QIS A48 @09 98 giaw AR 6RAG AT FARE

21 gO1B A8 64 6TIYRIER IR 2RI 20IQ T6R FIRAF! 6290 AT ALBEIER UG 62R2AQ g1 FIG6R
A9 AR SIQY QYL FEM N8° FARF QBIEN| 9RER @7 665N QTR AIRAF! QI IR, SR
6241909 G641 6017 ALRT FIAQ AR 6HINAN | B8 FEIN TQ TFFR I8 R°6AE 718 A 2IFY AR
6QAI68 IR A6RTER 6290 AT 92EIRYER, AN AQ IRIQ AIFER Fag AL F6M IG° IRIT6R
QEOINGIEM] 9671 6AIHAT FRTER QATRER Q1A A @G AATR QUIAT KIGY Q° AIS 9!TQI A6Q &
Q6AITIIER 28 69RG QIR FIE AIRl | FEAFIER YRAIR IR AR ATLER QTS | AYAQ 2R AIFAFIANER
60I9Q1IQ BRIRER Ya° AQ0IR AR FIE 677 SIRKES | FARIREA 6a19Q 29I AIZ, 6167 RS FIZ, 64
adye 969 G6ad AIRS @ql 4 6adid ALIAITREA TLGRIg 6291

‘gI% 68I2RQ 6RIFNE adya AR 6 AIFRl Qd RIgAY ARG AIF adie @ag 98 gFiew A8 RS AIRG
QARG I'?

Options:

1
2
3
4

Qg9 A4l 6AIR 6ATIFFQ QY ALREQ B YRUIER TIRI2IT
QQ QAR FI6R 6ATRA SIQY ALFEQ B RIEQ AIRAIT|
A9 @°ME 6AIR AT FFIEQ FAAQ 2R K9G|

dQ Q8 FI6R 67 aF6a Tadial 2R 90|

~— — ~— ~—

Correct Answer: 4) Q9 Q9@ ¢lI6Q 6Q7IRE FF6Q GRAIR 27 @QF|

Candidate Answer: 4) 49 Q3@ 62 6QCIRE GF6Q TR 2R FAT|

QID : 361 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

Mexico City is /2,240 metres up of / sea level.
Options:
1) Mexico City is
2) 2,240 metres up of
)
)

3) sea level.
4) No Error
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Correct Answer: 2) 2,240 metres up of

Candidate Answer: 1) Mexico City is

QID : 362 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

A postmortem was (ordered to trying) to ascertain the cause of death.
Options:
1) order to try
2) ordered for try
)
)

3) ordered to try
4) No correction required

Correct Answer: 3) ordered to try

Candidate Answer: 1) order to try

QID : 363 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The classrooms have been cleaned.
Options:

1) Someone was cleaning the classrooms.
2) Someone has clean the classrooms.

3) Someone has cleaned the classrooms.
4) Someone was cleaned the classrooms.

Correct Answer: 3) Someone has cleaned the classrooms.

Candidate Answer: 2) Someone has clean the classrooms.

QID : 364 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

Nobody lives on Moon.

Options:

N =

—_— — ~— ~—

=~ 0 ©
=

he
top of
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Correct Answer: 3) the

Candidate Answer: 3) the

QID : 365 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

I shall to the park for a walk.

Correct Answer: 2) go

Candidate Answer: 2) go

QID : 366 - Select the word that is closest in meaning (SYNONYM) to the word given below.
DILATORY

Options:

1) Delayed

2) Dilated

)

)
3) Constricted
4) Harmonious

Correct Answer: 1) Delayed

Candidate Answer: 4) Harmonious

QID : 367 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
DIATRIBE

Options:

1) parochial
2) harangue
3) rant

4) tribute

Correct Answer: 4) tribute
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Candidate Answer: 4) tribute

QID : 368 - Select the word that is spelled correctly.
Options:

1) Colonall

)

2) Colonel
3) Coloanal
4) Colonell

Correct Answer: 2) Colonel

Candidate Answer: 3) Coloanal

QID : 369 - Select the most appropriate 'one word ' for the expressions given below.
Someone who is extremely wicked or villainous
Options:
1) Religious
2) Nefarious
)
)

3) Mellifluous
4) Ravenous

Correct Answer: 2) Nefarious

Candidate Answer: 3) Mellifluous

QID : 370 - Select the option that best expresses the meaning of the idiom or phrase given below.

'Still waters run deep’

Options:

1) To break relationships with others

2) When you're really in need, you think of creative solutions to your problems.

)
)
3) People who don’t talk a lot sometimes have really interesting thoughts
4) When a task/something is very easy

Correct Answer: 3) People who don't talk a lot sometimes have really interesting thoughts

Candidate Answer: 2) When you're really in need, you think of creative solutions to your
problems.
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QID : 371 - Which of these is not an indication that a pupil speaks English correctly?
Options:
1) Uses appropriate structures and vocabulary
2) Uses varied sentence patterns

)
)
3) Presents his ideas in a jumbled sequence
4) Speaks with proper articulation, stress and intonation

Correct Answer: 3) Presents his ideas in a jumbled sequence

Candidate Answer: 4) Speaks with proper articulation, stress and intonation

QID : 372 - Which of these is not characteristic of a receptive pupil learning English?
Options:

1) pupil is engaged in listening

2) pupil is engaged in reading the language

)
)
3) pupil can understand what he is reading
4) pupil attempts to speak

Correct Answer: 4) pupil attempts to speak

Candidate Answer: 4) pupil attempts to speak

QID : 373 - Listening to and understanding radio news comes under which of these learning
types?

Options:
1) Listening
2) Writing
3) Reading
4) Speaking

Correct Answer: 1) Listening

Candidate Answer: 4) Speaking

QID : 374 - Which of these is a remarkable tool for helping students develop speaking and
listening skills?
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Options:
1) Writing
2) Storytelling

)
)
3) Intonation
4) Reading

Correct Answer: 2) Storytelling

Candidate Answer: 2) Storytelling

QID : 375 - Which of these paves the way for written Composition?
Options:

1) Guided written composition

2) Free written composition

)
)
3) Oral Composition
4) Listening to compositions

Correct Answer: 3) Oral Composition

Candidate Answer: 4) Listening to compositions

QID : 376 - Using a lecture or a radio announcement in the target language, to help students
become accustomed to different accents and to a realistic pace of speech is useful to teach which
of these?

Options:
1) Speaking
2) Listening
)
)

3) Writing
4) Reading

Correct Answer: 2) Listening

Candidate Answer: 2) Listening

QID : 377 - Which of these gives children another means of self-expression, allowing them to
creatively convey feelings and emotions they encounter?

Options:

1) Reading the newspaper
2) Poetry and Recitation
3) Library visits

4) Writing passages

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

31/68



10/6/2019

Odisha Teacher Eligibility Test

Correct Answer: 2) Poetry and Recitation

Candidate Answer: 2) Poetry and Recitation

QID : 378 - ‘Blending’ as the strategy for reading a new word is used to teach which of these?
Options:

1) Poem

)
2) Composition

3) Reading Comprehension
4) Phonics

Correct Answer: 4) Phonics

Candidate Answer: 1) Poem

QID : 379 - To accurately assess English language learners, variations in students’ English
language skills which of these need not be considered?

Options:

1) prior schooling experience

2) proficiency and student achievement
3) trauma due to any other factors

4) height and weight of the child

Correct Answer: 4) height and weight of the child

Candidate Answer: 2) proficiency and student achievement

QID : 380 - At a beginner’s level which of these works to inculcate an interest in writing?
Options:

1) writing a letter to a pen pal

2) surfing blogs

3) listening to advertisements

4) reading newspapers

Correct Answer: 1) writing a letter to a pen pal

Candidate Answer: 1) writing a letter to a pen pal
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QID : 381 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage, which of these is India's only live volcano located in the Andaman and
Nicobar Islands?

Options:

1) The Amsterdam Island Volcano
2) The Barren Island volcano

3) The Batu Tara Volcano

4) The Bachelor Volcano

Correct Answer: 2) The Barren Island volcano

Candidate Answer: 1) The Amsterdam Island Volcano

QID : 382 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage the scientific team was on board which of these research ships?
Options:

1) RV Sindhu Sankalp

2) P V Sindhu Sankalp

)
)
3) INS Vikrant
4) INS Viraat

Correct Answer: 1) RV Sindhu Sankalp

Candidate Answer: 1) RV Sindhu Sankalp
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QID : 383 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage what was the scientific team doing on January 23rd, 20177
Options:

1) catching fish

2) collecting sea floor samples

3) observing the volcano

4) collecting lava from the spewing volcano

Correct Answer: 2) collecting sea floor samples

Candidate Answer: 2) collecting sea floor samples

QID : 384 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage, what did the team observe after sundown?

Options:

1) hot water fountains

2) dust clouds
)
)

3) red lava fountains
4) ash clouds

Correct Answer: 3) red lava fountains

Candidate Answer: 3) red lava fountains
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QID : 385 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

Identify the context in which the word 'DORMANT' is used in the passage.
Options:

1) rising
2) awake
3) cheerful
4) resting

Correct Answer: 4) resting

Candidate Answer: 2) awake

QID : 386 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Who was the first to be granted a United States patent for a telephone?
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Options:

1) Alexander Graham Bell
2) Thomas Stark

3) Thomas Alva Edison
4) Madame Curie

Correct Answer: 1) Alexander Graham Bell

Candidate Answer: 1) Alexander Graham Bell

QID : 387 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

The receiver and transmitter are built into which of these?
Options:

1
2
3
4

Ringer
Handset
Keypad
Loudspeaker

—_— — ~— ~—

Correct Answer: 2) Handset

Candidate Answer: 4) Loudspeaker
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QID : 388 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

How does a telephone work?

Options:

1) Converts sound into mechanical signal

2) Coverts electrical signal to mechanical signal
)
)

3) Converts sound into electrical signal
4) Converts sound to light signal

Correct Answer: 3) Converts sound into electrical signal

Candidate Answer: 3) Converts sound into electrical signal
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QID : 389 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Which of these is not an essential element of a telephone?

Options:

1) microphone

2) earphone
)
)

3) ringer
4) monitor

Correct Answer: 4) monitor

Candidate Answer: 2) earphone
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QID : 390 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Direct connections were replaced by which of these?
Options:

1) switchboards
2) microphone

3) earphone
4) ringers

Correct Answer: 1) switchboards

Candidate Answer: 2) microphone

QID : 391 - is the manipulative tool used for developing the geometrical concepts of
‘symmetry’ and ‘reflection’ in Class IV.

6238 1@ FNIgYeRta g diel 052 6986a ‘A6AT * 6 ‘gBRY'Q MIFER e Gede KGQl AR
QLS g

Options:

1) Dot paper

@6 6dIR

2) Two sided counter
99 999 QYR

3) Beads string
6999 et

4) Abacus
AR-IRFEHT
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Correct Answer: 1) Dot paper
@6 649

Candidate Answer: 3) Beads string
6999 et

QID : 392 - In the lesson plans being currently prepared in schools, the aspect to be told after the
content analysis is

FUIRAER AIOIFE gea Fade dge @aIdiN, SRy F69IEQ J6Q QI 69 |
Options:

1) evaluation

FRuIge

2) teaching-learning activities
F96-a91 QI

3) competencies to be achieved
QTG AR AAA

4) teaching learning material
96 SR QIR

Correct Answer: 3) competencies to be achieved
Q0! AFR ARG

Candidate Answer: 3) competencies to be achieved
Q0! AFR QRS

QID : 393 - 'Development of Geometric thought' model is also called

'NCR TR GRS FlI6eR a1’ @RI

Options:

1) Van Hiele Model
Qe F6a e

2) S Back Bell

Y QY@ 69m

3) S.M. Corey

Q.91 6Q1Q

4) No option is correct
67193 Gag 0@ gew

Correct Answer: 1) Van Hiele Model
QIR 6@ ceen

Candidate Answer: 1) Van Hiele Model
QP F6@ ClI6EM
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QID : 394 - During the teaching-learning process, a teacher can adopt which Mathematics
teaching and learning strategies?

QIOYRIR -FYQI 9L AAA6R, Y9 FUR GIG0R 69Q TIOIRIR 9&° JVIQIR 6F19R J28 FRea?
Options:

1) Mathematical games
QIEeR 6¢ip

2) Group work

QRS QIe

3) Peer learning

J2Q Sél

4) All options are correct
A2 Gag A0R

Correct Answer: 4) All options are correct
Are Gag A0K

Candidate Answer: 4) All options are correct
Ara Sag A0R

QID : 395 - Which of the following is a suitable approach for explaining that a remainder is always
less than the divisor to Class IV students?

0g¢l 698a dR1E1g FATRR FRAIEQ AGEHT AGAI el &N STl FEXRRI AR ¢ FRIQ 6766 AAYS
aal?

Options:

1) Represent division sums as mixed fractions and explain that the numerator of the fraction part
is the remainder

74 @El°d GQAR6Q SRR WQWITHG QALIDE @QAP Q° Q@QIQQ@ 64 WRII°FQ QELIERTA VIGIETY I 2°3l
aee |

2) Explain orally to students many times

QIeg 6719R Q6T AR AR AR Fag

3) Grouping of objects in multiples of the divisor and showing that the number of objects not in the
group, is less than the divisor

SRR AR AECRQA 63lIFINAE QG| IG° 6Q¢P 64 U RS AR AWFY, J6R, VTR Ol Q€ |

4) No option is correct
6@16d dag Ola g6L

Correct Answer: 3) Grouping of objects in multiples of the divisor and showing that the number
of objects not in the group, is less than the divisor
AR AR AR 69X QAR 9Q° 69613 64 QU6 @2Ql ACHR UAXCHR Sl@@, QIR OIQ @€l |

Candidate Answer: 2) Explain orally to students many times
2105 6¢lge Q6d A AQ adal Qg
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QID : 396 - How many levels are there in ‘Development of Geometric Thought’ model?

‘QUTOR TR TR FIEENTER 6R6E BQ AEE?

Correct Answer: 1) 5

Candidate Answer: 4) 9

QID : 397 - In which form, mathematics is important at primary level?
679 2Q6R, G816 6298 gIaFie 26Q RIS ?
Options:

1) Cultural
ARG

2) Mental
Aede

3) Religious
TR

4) Social
AT

Correct Answer: 2) Mental
AIede

Candidate Answer: 2) Mental
AIede

QID : 398 - If a teacher wants to be a good mathematician, then he/she must be able to

68 AR AT P68 AR FGEER 62Q1q FI2IZ 6069 61 6Q AYE! 62NARIQ |
Options:

1) solve the problem in no time

2 919 AN ARG RQAR!

2) master the techniques of answering questions

J9Q 229 699l 6a19R 6Q FIAQ KRS

3) memorise most of the formulae

24K I 99

4) understand, apply and make connections across the concepts
ARG 9Eg 98 , Y6AUG KQG Ie° A°6LIGl G2UIR *aQ
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Correct Answer: 4) understand, apply and make connections across the concepts
IRl gEQ 9Eg , J6LlT @ag Ie° A°6UId GaIR 90

Candidate Answer: 4) understand, apply and make connections across the concepts
IR go] 9Eg , J6LIT @ag Ie° A°6UIF GaIR @0

QID : 399 - According to NCF 2005, which of the following is not the goal of learning
Mathematics?

NCF 2005 @ 91568, ¢ 6@ 29I 6206 986 9Ia R g6a?
Options:

1) Including more Mathematical concepts at primary level
JdIefie 306a 2IA FIEIGR UIQE A2

2) Giving importance to the method of problem-solving
QA AARIS QAR IBG § JQR 69Q!

3) Mathematisation of thought process

Q82 Sl 9@l

4) Visualisation of Mathematics

& @84

Correct Answer: 1) Including more Mathematical concepts at primary level
JIefie 306a A FIEIGR UIQd A2

Candidate Answer: 1) Including more Mathematical concepts at primary level
JdIeFie 306Q 2IA FIEIGR Q4 A2

QID : 400 - is not a phase in problem analysis.

QA F68TERQ @ IS GEL|
Options:

1) Identify the problem thoroughly
QAT YHIQYHAER TEC @0g

2) Identifying different methods
QR 986 0F6 @Al

3) Choosing a suitable method
6968 RUYS AT HAGG @R

4) No option is correct

6a19d Sag 017 g6<

Correct Answer: 4) No option is correct
62193 Qg Ole g6w

Candidate Answer: 2) Identifying different methods
G0R 986 556 QaQl
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QID : 401 - What is the value of the expression 200 + (300 + 10) — 30?
200 + (300 + 10) — 30 @ AGY@Q R 6@66?

Options:

1) 230
2) 300
3) 200
4) 270

Correct Answer: 3) 200

Candidate Answer: 3) 200

QID : 402 - Which of the following digit in 2518 have maximum place value?

2518-6Q AYAYE FUIQ 699 AT ATYR FIAQ RI6Q 2F?

Correct Answer: 2) 2

Candidate Answer: 2) 2

QID : 403 - What is the value of (9 tens + 2 hundreds + 7 ones)?

(9 Q8 +2 40 + 7 §)Q Ry 6@607

Correct Answer: 3) 297

Candidate Answer: 3) 297
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QID : 404 - If the Least Common Multiple and Highest Common Factor of 32 and K are 96 and 4
respectively. Then K is equal to

93 32 99° K Q Ag® QRIQE qEies 1e° 00d ARIE gaa1ae Q2Igen 96 N6° 4 41 6669 K @ my
6208 I

Options:
1) 18
2)24
3)12
4) 16

Correct Answer: 3) 12

Candidate Answer: 3) 12

QID : 405 - Which of the following number is not a perfect square?

G0 ORI 699 A3 & G0 AT (TRETY, 6IAIR) 67?

Correct Answer: 3) 288

Candidate Answer: 1) 784

QID : 406 - If the area of a square is 625 cm?, then what is the side (in cm) of the square?
AT QCI6IQQ VTR 625 6AF2 g9, 6969 Q06TEQ YIB(6QF) 6966 629 ?

Options:

1) 25
2)30
3)32
4) 34

Correct Answer: 1) 25

Candidate Answer: 1) 25
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QID : 407 - If the radius of the circle is 14 cm, then what is the circumference (in cm) of the circle?
Q8Q QUIQII 14 697 6269 QRQ AR (61F1) 6960 297

Options:

1) 84
2) 88
3)92
4) 96

Correct Answer: 2) 88

Candidate Answer: 4) 96

QID : 408 - What is the ratio of the volume of the sphere to the volume of the hemisphere, if the
radius of both sphere and hemisphere is same?

A3 QL 98 I9° QaIE QUIARI AAIF 99, §AA ZILCTR AT YRIFR AGUIS 6Q6E 621 ?

Options:

—

w N
- = — —

=W =N
W =2 N -

H

Correct Answer: 1) 2:1

Candidate Answer: 1) 2:1

QID : 409 - If the base and height of the parallelogram are 24 cm and 12 cm respectively, then
what is the area (in cm?) of the parallelogram?

A7 JIRERENIFIA @ R I9° AFS! YAFAER 24 637 I8 12 627 99, 696@ ATIBARFINR 6TGTR (62FH?
) 686G 297

Correct Answer: 3) 288

Candidate Answer: 3) 288
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QID : 410 - If the other two sides of a right angled triangles are 40 cm and 30 cm, then what is the
length (in cm) of the hypotenuse?

QG 9@ ATERIN FRRA AR @R GI2 40 627 49° 30 62T g4, 6069 AGERIIQ 6T (697) 6R60 297
Options:

1) 50
2)90
3)130
4) 170

Correct Answer: 1) 50

Candidate Answer: 3) 130

QID : 411 -
In the given AABC, what is the value of ~ACB?

gea AABC - 62, ZACB 2 7lIQ 6966 297

A

110°

60°

B C

Options:
1)6
2)10
3)14
4)18

Correct Answer: 2) 10

Candidate Answer: 2) 10

QID : 412 - If 2y, 4y, 5y, 7y are the angles of the quadrilateral, then what is the value (in degrees)
of y?

2y, 4y, 5y, Ty 9@ 09990 6216 99 696@ y Q FJAY (3F6Q ) 6966 6217
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Options:

1)12
2) 16
3) 20
4) 24

Correct Answer: 3) 20

Candidate Answer: 1) 12

QID : 413 - Which of the following is supplementary angle (in degrees) of 60°?
O Q2 620gQl 60° @ ARYR 618 (GG169) 6@66 297

Options:

1) 60

2) 140

3) 150

4) 120

Correct Answer: 4) 120

Candidate Answer: 4) 120

QID : 414 - What is the value (in degrees) of each exterior angle of a 18 sided regular polygon?
18 QI9gs FUde Ggeea 9ot QIdie 6R165a (nI(GI16R) 6960 6297

Options:

1) 20
2) 60
3) 100
4) 140

Correct Answer: 1) 20

Candidate Answer: 2) 60
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QID : 415 -

In the given figure, which of the following is
correct?

7¢] B6 6% @G a0a BI6e 7

Options:

1) AAPQ ~ AABC
2) AAQP ~ AACB
3) AAPQ ~ AACB
4) AABC ~ AAQB

Correct Answer: 3) AAPQ ~ AACB

Candidate Answer: 1) AAPQ ~ AABC

QID : 416 -

In the following question, select the number
which can be placed at the sign of question mark
(7) from the given alternatives.

Fq 94 6, Taeg9l SeF FIRS kg 69T (7)
QIe 65 CAEl ARG ?

(00| =l

=3 =J|th| kD

)
noy| G| L -

47
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Options:

Correct Answer: 3) 37

Candidate Answer: 1) 35

QID : 417 - In a certain code language, ‘PHONE’ is written as ‘SKRQH’. What is the code for
‘MOBILE’ in that code language?

a6 738 6210 QISIEa ‘PHONE’ @ ‘SKRQH' 8196 6a¢ 941 692 6@1% Qi8I 68 'MOBILE' Q 62196
@41?

Options:

1) PRDLHO

)

2) PRELOH
3) PRDLCH
4) RPDLOH

Correct Answer: 2) PRELOH

Candidate Answer: 3) PRDLCH
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QID : 418 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

GeR Q2 €ERYR @IRR GIE s €ade ST
QWY O 699 CISa QI (RER6R) CadITIng| 9F
62@l QGG 51960 JoGYg @l gl

350 - 316

-
o
o

aidie e @ (Reass)
=5
o
o

o
o

Quantity of water (in litre)

o

51 52 &3 54 S5 56 57

State / @&y

R = Total water sold by S1 and S2 state.
Q = Total water sold by S7 and S6 state.
What is the value (in litres) of R + Q7?

R = 6¢lI6 AIF S1 99° S2 QIgQ QIR §G62R&|

Q = S7 99° S6 QIFQ QIR FFA QA 641G KR!
R+ QQ IR (791) @dl 6297

Options:

1) 760

2) 876

3) 840

4) 800

Correct Answer: 2) 876

Candidate Answer: 1) 760
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QID : 419 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

GeR Q2 2RI @RE GIFE CHlss €ada ST
QWY O 699 CISa QI (RER6R) CadITIng| 9F
6@l QISIE 751060 JE0LE @0l g

350 - 316

-
o
o

aidie e @ (Reaes)
=5
o
o

o
o

Quantity of water (in litre)

o

51 52 &3 54 S5 &6 57

State / @&y

Total water sold by state S2 is how much percent more than water sold by state S1?
QR4 S2 QIR GG 629! 6711 AT AUY S1 QA TF 6291 VTR FRAIER 6R6E FGI°E 698 ?
Options:

1) 15%

2) 16.67%

3) 20%

4) 10%

Correct Answer: 2) 16.67%

Candidate Answer: 2) 16.67%
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QID : 420 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

GeR Q2 €ERYR @IRR GIE s €ade ST
QWY O 699 CISa QI (RER6R) CadITIng| 9F
62@l QGG 51960 JoGYg @l gl

350
300
250
200
150 -
100
50
0

316

gidia Qg (Reasa)

Quantity of water (in litre)

51 52 &3 54 S5 56 57

State / @&y

What is the average (in litres) of total water sold by all states together?
AR1Y QU IR AIFER S FAEM 641G VTR GG (FFIAER) 6R6S 297?
Options:

1) 210

2) 220

3) 205

4) 215

Correct Answer: 2) 220

Candidate Answer: 3) 205

QID : 421 - Nailini wants to introduce the topic on ‘Animals — our friend’ to class Ill students. In
order to introduce the topic more interestingly, which of the following will be the best teaching
strategy?

QP31 9ol1a 6941Q 88 SIS AT ‘UG FIER 2N AF AL 669 U6@RRIG FIZYER | I8 AU 2R

2Igeqd Qerea QUggeL edel Qb Do I ot 9e0 Qo JAI QdealAn 629 2
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Options:

1) Ask the students to see pictures of animals given in the text book
gIe8IG1 ARG JLR6a QARSI AY AIE 56 6QYlq 928

2) Use a chart showing pictures of different animals

Q62 99 19w 59 6QYRAR AT IR FITQ QAT K9G

3) Draw pictures of different animals on the black — board

RRIAGIER GRR ag AIew O AT

4) Show a video clip on animals and their usefulness

g e RUEQ U@ QG6 FU 8 6T QUEIITIG TTAER 69

Correct Answer: 4) Show a video clip on animals and their usefulness
g FIRE QUEQ 1@ GGG §d 8 6T QUELIGISI FTACR 646!

Candidate Answer: 4) Show a video clip on animals and their usefulness
g FIFE QUEQ IR RG3 §d 8 6QATIRET QUELIGIGI TTAER 646G

QID : 422 - The three methods of EVS/Science are observation, experimentation and

AA/GRIQ Q GERIT FEIRT 69 A6CARR, J6AIF 6 [
Options:

1) deduction
Q6o

2) hypothesis
AGRFR!

3) measurement
1203

4) inference
2AQANR

Correct Answer: 4) inference
QAR

Candidate Answer: 2) hypothesis
ateaql

QID : 423 - After discussing about crop plants, Reema took her students to the crop fields. She
wanted her students to

TAR A FYAEQ ACRISF KRS T6Q Al Gl BIFBIGT ARG TAR 630G 6TATER | 64 BIGSIY ARG
R6RRRNG ILU6R |

54/68
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Options:

1) list the crops growing in the field

@fi6Q 2CR FARQ SRR A1

2) connect their classroom learning to real — life contexts
6Q7IGE 654192 I0ARIR QIR F1NFQ ALNER 6919

3) understand the processes of farming

QI8 Q 9T 96 9E3

4) hands — on experiment in the field

& 6996Q 6 @Qg

Correct Answer: 2) connect their classroom learning to real — life contexts
6@ 694192 dI0UQIq QYR F19RQ ALV 6dleg

Candidate Answer: 2) connect their classroom learning to real — life contexts
64IRe 6961192 AI0JQIY QIgER F19RQ AR 6dleg

QID : 424 - While teaching the topic water in her EVS classroom, Anjali organises role play on
different sources of water and individual actions to conserve water. What is the primary aim of this
activity?

QENQ 6541 J26Q 7 FTA6R IO AAIR 6367, ULF 87 Q A°ATS AR BF Q FER 6716 8 VSIS G
QU6 6QIM 69 Q 2ICAIFR FRLER | 9T ADIGE Q S AEREY @El ?

Options:

1) Improving social skills of students

gIggIe! Ao AITIER 6@ldm 6a QI 2Idial

2) Breaking monotony

QLR 9 Q9!

3) Ensuring active participation of the students in the process of learning
JGQIQ 96 Guid IeE AFE AUNRIQ YRS ARSI

4) Enhancing student’s knowledge on sources of water

R 6916 RUER FQUId! AR FIF 9F KG9

Correct Answer: 3) Ensuring active participation of the students in the process of learning
JGQIQ 9RI6Q Guidl IR ATE AUNRIA ARG ARSI

Candidate Answer: 4) Enhancing student’s knowledge on sources of water
GRQ 6910 AA6Q aYIE! AIeE RIS 98 @AQ!

QID : 425 - What is the basic objective of educational excursion in EVS?

QEND 60 683 QA8 Q R ARG QS 2
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Options:

1) To develop the energy of children
dnl AIeE 63 QI8 @3Ql

2) Real-life experience to the students
21Q 8191 FleE QIR R199Q ARG

3) Promote Socialisation

o [eIaalaty q 691919 699!

4) Promote team sprit

G61 goq 69I1QIae 6aQl

Correct Answer: 2) Real-life experience to the students
gIg 8191 FleE QIR ¥19RQ ARG

Candidate Answer: 3) Promote Socialisation
NGRS q 6919190 699

QID : 426 - At lower classes play-way method of teaching EVS is based on

6215 6491160 ANIY F]NQ 67, 68 YSIRT QU6Q ARG |
Options:

1) psychological principles of development
ARIS Q F16QIELRIGR RIS

2) sociological principles of teaching
0Ll Q AR SRS AFIV1A ANIS

3) theory of physical education program
41018 J31 QIdigaa deis

4) principles of method of teaching

IR gEIN1Q RIS

Correct Answer: 4) principles of method of teaching
IR JEIR1Q RIS

Candidate Answer: 3) theory of physical education program
4l01ae J31 QIdigaa deis

QID : 427 - What is the use of asking, probing and imagining questions in class V EVS class?

QA 6991 Q@D IO TRI 6R6R J§ AQIRQI, Ui FAG| 8 FFR KA AAEAIG [ ?
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Options:

1) observation skills
AQERRR 6RNER

2) emotional skills
QUIRIAR 6RlR

3) thinking skills
0l RAQIQ 6RlGR

4) speaking skills
@2 @221Q 6RlaR

Correct Answer: 3) thinking skills
08 @A 6RleR

Candidate Answer: 2) emotional skills
QIR 6RleR

QID : 428 - As per the NCF 2005, what is the theme of EVS?

GAEr 2005 2AGAIH1 ARG @ 18R @4l ?
Options:

1) Food

Sy

2) Solar system
6dlQ qaR

3) Weather
aidiaig

4) Energy

3

Correct Answer: 1) Food
Sy

Candidate Answer: 1) Food
Sy

QID : 429 - Which of the following is the strongest argument in favour of adopting a theme —
based approach in EVS?

QGG 60 IR 18R 2GS QE6RIS ATCIAR AVEQ AFQ 2R FAAFS ¢ FRIQ 699G ?
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Options:

1) It helps in giving a structure to lesson plans and makes teaching more effective
N2l JI0 9QIq @ QIE 917 @QQI A2 ARUIKKIG 2R TRYQ @2 |

2) It helps in making teaching more interesting and activity based

Mgl JI0YRIQ S 6N G RITILRIT 2RIIAG KRS AT ALIAG! K6

3) It helps in covering a wide range of concepts, issues and skills

@I RIS, JAT G 6FIRA IR @%@ Jefrlg QRINNER ALIAG| @RER

4) It helps in softening subject boundaries and accessing knowledge holistically
2 F80q ALFEQ QEIRQI AL KIR 2ILQE FAUEQ ARIAG! @GN

Correct Answer: 1) It helps in giving a structure to lesson plans and makes teaching more
effective
@l dIO delq IR QI8 gQle PRI AL 2AIdRIq AR TRYQ SR\ |

Candidate Answer: 2) It helps in making teaching more interesting and activity based
2l QI09QIY 2P 6019 8 RITIARIT ARMIGE KGRI AT ATIAG! A6

QID : 430 - Stories are an important aspect of teaching and learning EVS in primary classes.
Which of the following is the least appropriate reason for including story telling as pedagogy in
EVS classroom?

gIfie 694160 A@NL ARIRS 6 JYQ AIG AI2IR (1294 9Aw A28 |FARNYE FUQ 6998 RN
6941160 SR FRIF WI6R QLG *EAIQ ATR KA AR AFQ ¢ RAYS AR ?

Options:

1) Stories include experiences of the people
EMQIew 8@@@ gl @lLldi

2) Stories cut across various subject areas

G0R GILEQ RIIGT *C *QQ

3) Stories help in class management

RI2IEI1 GO 69411 ARRIRA *ARIEQ ARILG! K6Q

4) Stories provide contexts to relate EVS concepts
LI QLD VIR dAF181¢ AW Q@ goie @6

Correct Answer: 3) Stories help in class management
RI2IGT O 684611 ARVIRA| KARIEQ ARIAG! KEQR

Candidate Answer: 3) Stories help in class management
RI2IEI1 GO 6g€I1 ARRIRA RARIEQ ARILG! KEQ

QID : 431 - In which century the famous Jagannath Temple at Puri was built by Anangabhima
Deva?

ge1 80 gl® eaalel 9Ra Q BAIE 694 F9IR1 6Q AQFTRIT 699 FEARER ?
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Options:

1) 10th Century
QAT SR

2) 12th Century
g JLIa1

3) 13th Century
QEAIQG F1eM
4) 6th Century
Y FIeM

Correct Answer: 2) 12th Century
FIed LI

Candidate Answer: 4) 6th Century
Y S

QID : 432 - Gopalpur port is located in which district of Odisha?

3EIQ 699 FRIEA 6FITIRYR F0R 2FG ?
Options:

1) Jagatsingpur district
SORAFIQ TR

2) Bhadrak district
Q9% ARl

3) Puri district

gon GRl

4) Ganjam district
Q@I SRl

Correct Answer: 4) Ganjam district
Q@I SRl

Candidate Answer: 4) Ganjam district
I SR

QID : 433 - In which of the following plants, reproduction occurs through roots?

NS FUQ 699 FIRIER IR FRUER IR 62IR2N |
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Options:

1) Jasmine

2y

2) Turnip
BERIT

3) Sweet Potato
dor @@l

4) Raddish

am!

Correct Answer: 3) Sweet Potato
dor el

Candidate Answer: 3) Sweet Potato
dol el

QID : 434 - Jarawa Tribal people are found in which region of India?

FIRQ! 2GR 6AIR VISR 67% ALRER 621 RN ?
Options:

1) Lakshadweep Islands

MDD QIAYGS

2) Andaman and Nicobar Islands
DR 8 FERIAQ LAY

3) Jharkhand

Qledial

4) Madhya Pradesh

CRIGEGE

Correct Answer: 2) Andaman and Nicobar Islands
AR G FERIAQ LAY

Candidate Answer: 2) Andaman and Nicobar Islands
AR G FERINQ LAY

QID : 435 - Cuttack is located on the delta of which river?

QO 699 991 ARITRIER AFG ?
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Options:

1) Indravati
QLG

2) Brahmani
Q12481

3) Sankh
S

4) Mahanadi
LI

Correct Answer: 4) Mahanadi
12191

Candidate Answer: 4) Mahanadi
LI

QID : 436 - Which vitamin acts as an antioxidant ageing vitamin?

60Q QOIAR Y@ Y& 25604 IGT GoIfie QIse QIF @GiaI ?
Options:

1) Vitamin A
QoIda A
2) Vitamin B
@oIfie B
3) Vitamin E
QeIfie E
4) Vitamin K
@oIfie K

Correct Answer: 3) Vitamin E
@eIfie E

Candidate Answer: 4) Vitamin K
@eIfie K

QID : 437 - Brahmani river originates in

QIZ&N Qa1 Q QGO 62IAF |
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Options:

1) Odisha
6Gal

2) Bihar

e

3) Jharkhand
Qlesisl

4) Chattisgarh
254661

Correct Answer: 3) Jharkhand
Qledad

Candidate Answer: 4) Chattisgarh
20961Q

QID : 438 - Which of the following taste buds are present behind salt taste buds?
AR 692 9F 6Q FANYE ARIQ 629 66 QQ Qe ?

Options:

1) Sweet

dol

2) Sour

Gl

3) Bitter

del

4) No option is correct

6al9d dag 0@ g6e

Correct Answer: 2) Sour
Gl

Candidate Answer: 2) Sour
SISl

QID : 439 - Which is the state animal of Assam?

AN QUG A @€ ?
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Options:

1) Mithun

deje

2) Black Buck

QR 204

3) One-horned rhinoceros
@ I QIR 94l

4) Ox

QQ

Correct Answer: 3) One-horned rhinoceros
@ AT QIR S8l

Candidate Answer: 3) One-horned rhinoceros
@ I QIR 94l

QID : 440 - “Origin of Species” is written by
“9RIoa Q& 6RYES ?
Options:

1) Louis Pasteur
204 9I8Q

2) Mendel

6168 m

3) Robert Hooke
Q9% g

4) Charles Darwin
QIR GIER

Correct Answer: 4) Charles Darwin
QI @IeEe

Candidate Answer: 3) Robert Hooke
QQ% g9

QID : 441 - Paika Rebellion, 1817 took place in which state of India?

JIae 6912, 1817 Q00 629 QUM 62IRYmI ?
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Options:

1) West Bengal
Qe

2) Punjab
aaiQ

3) Odisha

64l

4) Tamil Nadu
QITRRIG

Correct Answer: 3) Odisha
eG4l

Candidate Answer: 3) Odisha
eG4l

QID : 442 - Who appoints judges of District Court in India?

QA6 TR AGINGR GRIQAT ARG & YD A3 ?
Options:

1) The President

AULAG

2) Chief Minister of State
QURIQ AR

3) Governor of State

QAMQA ARYAI

4) Chief Justice of High Court
Qe NG Q Y FRIRAG

Correct Answer: 3) Governor of State
QAR QASII®

Candidate Answer: 3) Governor of State
QAR QAR

QID : 443 - Chairman of Election Commission is removed from the office in the same manner as

g 201081 @R A YIGIR 68 TSR 2CAT @ AUV § O FAIRAQ LECRAAIN |
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Options:

1) Judge of Supreme Court

ge 6I6 @ IeIAT

2) Additional Solicitor General of India
QU AGAS 6AIRICA 6REAAUR

3) Chief of Army Staff

64l

4) Governor of State

QA QAU

Correct Answer: 1) Judge of Supreme Court
ge 69I6 @ AP

Candidate Answer: 4) Governor of State
QAR ASILI®

QID : 444 - Railways were introduced in India during the reign of which British Official?

QAUAGER 6ARAIR Q AT 69Q {59 2RI AR QR ATIAER 6QUREYRI ?
Options:

1) Dalhousie
PR

2) Cornwallis
Sl latel

3) Chelmsford
69qae

4) Wavell
6Q6QMm

Correct Answer: 1) Dalhousie
LMl

Candidate Answer: 3) Chelmsford
69qae

QID : 445 - Intensity of Earthquake is measured using

Qaase 2190 LI KR AN ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

65/68



10/6/2019 Odisha Teacher Eligibility Test
Options:

1) Physiograph
FR6gICcr

2) Cardiograph
Qesg I

3) Seismograph
e 9oe a9
4) Barograph
Qg SIg AIgS 98

Correct Answer: 3) Seismograph
Qdas 9o 98

Candidate Answer: 2) Cardiograph
QRIFEGIr

QID : 446 - ‘Minamata Disease’ is caused by high levels of

ARG 6QUT Q 2@ 1G] 6419 621NN |
Options:

1) Lead
Il

2) Arsenic
Séie alel
3) Zinc
@gl

4) Mercury
a1

Correct Answer: 4) Mercury
1<

Candidate Answer: 3) Zinc
Qg

QID : 447 - Which tissues of Human Body store fats?

FIGQ JQ10Q 629 6041 GFR 97 aell @GN ?
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Options:

1) Epithelial Tissue

deamam 68

2) Adipose Tissue

Qg 91 AYRS (2IG6AR )6
3) Areolar Tissue

2@ 9o ARG (2EQBMIQ )6AS!
4) No option is correct

6al9d Sag O@ g6e

Correct Answer: 2) Adipose Tissue
ag oF1 AYRE (26 )6

Candidate Answer: 1) Epithelial Tissue
gdeamlm 641

QID : 448 - With which country, India share its longest international border?

624 606 A2 AAER AQQ @14 2SFISIC A1 AT Q@R ?
Options:

1) China

e

2) Pakistan
a[[=eley

3) Bangladesh
QEPMICQE

4) Myanmar
aeiicua

Correct Answer: 3) Bangladesh
QErmMICQE

Candidate Answer: 2) Pakistan
a[[lelley

QID : 449 - Pulicat Lake is located in

IneIG 2@ Ol 2Qde
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Options:

1) Andhra Pradesh

2IFYERS

2) Tamil Nadu

QITRAIG

3) Both Andhra Pradesh and Tamil Nadu
Q09 ZIFYERS B FITRFIQ

4) No option is correct

6al9d Sag 0@ g6e

Correct Answer: 3) Both Andhra Pradesh and Tamil Nadu
QL 21996949 6 FIANRIG

Candidate Answer: 3) Both Andhra Pradesh and Tamil Nadu
QRQ 2199694 6 SRS

QID : 450 - Who is known as the Father of Civil Services in India?

QAGER JIATR 6A9IQ @A 621N RILIQ QRIAN ?
Options:

1) Warren Hasting

@60 6a’der

2) Charles Cornwallis
Slagatalelate]

3) Sardar Vallabh Bhai Patel
QIR IRQ AR VTR

4) \V.P. Menon

@. d 6q0q

Correct Answer: 2) Charles Cornwallis
oIy *FaRa

Candidate Answer: 3) Sardar Vallabh Bhai Patel
A4 INA AR ASTR
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